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EIT | BRI [BREXSD | 6P9 | 28 FE | ey -H | UP
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1 1000 [TUIPLAYZP8 L C-*R EERS 3 1 3
2 1004 |[RADAEYDERKESE| L C EERES 5 1 5
3 1006 |/ —E & L C-*R EERES 6 1 6
4 1010 |[RADAEYDERKESE| L R EERES 4 1 4
5 1013 |[TUIP LAY L C-*R RS 3 1 | IBiDE
6 1017 |[RADAEYDERKESE| L C RS 5 1 | IBiDE
7 1019 |/ —E 8 L C-*R RS 6 1 | IBiDE
8 1023 |[RADAEYDERKESE| L R RS 4 1 | IBiDE
1026 |1 >V5—/\N)L
9 1045 |[TJUIPLAYZ78 St We T EERS 7 1 7
10 1049 |[RADAEYDERTESE| St W EERS 6 1 6
11 1051 |/ —E R St WeT EERS 9 1 6
12 10565 |[RADAEYDERTESE| St T EERS 6 1 6
13 | 1058 |TJUIP LAY ZPE St We T RS e 1 | IBiDE
14 | 11.02 |[RADAEYDERKESE| St W RS 6 1 | B3
15 11.04 |/ —EXRE St WeT RS 6 1 | IBiDE
16 1108 |[RADAEYDERTESE| St T RS 6 1 | IBiDE
1111 |REX BB
17 | 1200 [JDSF DikE L C-*R 1RTE| 22 2 12
18 | 1207 |JDSF CHrEL L S‘C-*R 1RTE| 23 2 12
19 | 12119 [V TP IIBHRE L SR EERES 7 1 6
20 | 12:23 |V ZP T ARE L SR EERES 6 1 6
21 12:26 |JDSF DR L C-*R EERES 7 1 6
22 | 12:30 |YZ7P 1 BiRE; L S‘C-*R EERES 3 1 3
23 | 12:36 |7 I AfRE L S‘C-*R EERES 4 1 4
24 | 12:42 |JDSF CHrE; L S‘C-*R EERES 12 1 6
25 | 1247 |85 HvT L S‘C-*R EER 2 1 2
1253 |15 —=/N)U
26 | 1305 |YZPIIB#RE; L SR RS 6 1 | IBRDE
27 | 1310 | ZP M ARE L SR RS 6 1 | IBRDE
28 | 1314 |JDSF Dk L C-*R RS 6 1 | IBRDE
29 | 13118 |V I BiRE; L S‘C-*R RS 3 1 | IBRDE
30 | 1325 |7 I AMRE L S‘C-*R RS 4 1 | IBRDE
31 13:31 |JDSF CHhés L S‘C-*R RS 6 1 | IBRDE
32| 1338 |[gEs6&8HhvT L S‘C-*R RS 2 1 | IBRDE
1344 |AF7—FVR REN
33| 1407 |JDSF CHkai St W-T 1RFE| 50 5 36
34 | 1426 |JDSF Dk St W-T 1RTE| 37 3 18
35 | 14:38 |V AMRE St W-F 1RTE| 13 2 10
36 | 1446 |JDSF CHkE; St W-T 2RHE| 36 3 24
37 | 1457 |JDSF Dk St W-T 2XRFHE| 18 2 12
38 | 1505 |77 1 B#hEk St WeT-eF HERES 5 1 5
39 | 1510 |JDSF CHhE: St WeT-F IXRFHE| 24 2 12
1522 |15 —=/N)b
40 | 1537 |YZ7P 0 AR St WeT-eF HERES 12 1 6
41 1543 |V Z P IBiRE; St We F HERBS 70 1 6
42 | 1547 |V ZPIAREL St We F HERES 10 1 6
43 | 1550 |[JDSF Dik#; St We T HERES 12 1 6
44 | 1554 [JDSF CHhEk St WeT-eF HERBS 12 1 6
45| 1600 |gE5&8hvT St WeT-F EERPS 7 1 6
46 | 1606 |YZPIIB#HRE St WeF SRS 6 1 [IBRDE
47 | 1610 |[YZPIMA#KE St WeF SRS 6 1 [IBRDE
48 | 1614 |7 I BiR# St WeT-F RS 5 1 | IBRDE
49 | 1621 |YZP I A#KE St WeT-F SRS 6 1 [IBRDE
50 | 16227 [JDSF Dfké St WeT SR 6 1 [IBRDE
51 16:32 | JDSF Chk#; St WeT-F RS 6 1 | IBRDE
52| 1638 |[gEs5=hvT St WeT-F RS 6 1 | IBRDE
1645 |AF7—F VR REN
17:00 |B3 =




